XYZ,=96.42, 100.0 , 82.49

Yar=[Y-50]/50
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a,=ay[(x-x )/ N 1 0:8 < p
bz iO[hzm 04 X
:io= 0,110,8, = 1,000 _g’g_% 0.6 <smTAB2
Crg=[AF+B 008 =5 X
6 Ostwaldcolours (0) 1 < 50
of maximum (m) C, = s
linear colour space Cyg 5. Y) N 1

1568~
Hlumin. D50, ¥,,=100 Y, =10
Name Range X, Vo Z, Xy, 2 X
R, 570,775 66,08 4805 837 05567 03759 898 4gp
¥ 496,775 8445 9464 1216 04415 0.4048 573 A8
G, 496_570 26.11 58.68 12.12 0.2604 0.6055 538 538
< 380,570 508 5405 824 0.2083 03469 491 598
o 380400 2171 15,46 7667 01874 0.1334 488 73
W, 570_490 8005 5142 7871 03608 02046 530535
W380.775 96.42 1000 8249 03457 03565 10098
N3R0TT3a54 100 B34 0ash 03568 100
7 360,775 1735 180 1484 03457 03605 10%

Parameter:

Y & Name
llluminant D50
Y,=100 Y,=10
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